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Review Ioblems:

Problem 5 [8 points|: Let F' = F(x) be the function

0. = /\/t2 1dt, —o0 < x < 4+00.

shee 69- (" rmrde Fl=0.
\/M
(a) Explain why the function F' is invertible.

(b) Compute (F~1)(0).

Solution. (@ Write Feo= §6), then  Fo) =327 §08) = 3J@ e = [ 181 20 and
& hos only 1 ewpf  X=0.

O F is s’rr}cﬁﬂ inveasing M (4, ©)V te), and s0. in (- ot o).

o E 6 one-& —one and & is iprertible

4(3(&)=J)< 8&]0“ ¢ then e =o.
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(b) we nﬁecl-&o Pird X so that Foozo.wx=|, and  Flay= 23718 =35>0
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Problem 7 [24 points]: Consider the following graph:
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(a) Suppose that this is the graph of a function f = f(z). In particular, f(—1) = —1/2.

(i) Consider the function g(x) = f(3x — 4).
Compute ¢'(2), if possible. If this is not possible, then explain why.

(ii) Consider the function h(z) = f(f(x)) + In (1 — tan(x f(x)/2)).
Compute h'(—1), if possible. If this is not possible, then explain why.
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Problem 9 [7 points]: Does the curve eV = x + y have any points at which the tangent
line to the curve is horizontal? Explain your conclusion. (Implicit Differentiadion).
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